
4

2

1
5

9
3





2 - = 2
+

=
8

+

=
6

- 1 =
-
3
=

9 - =
+
1
=

- = 0
-
4
=

+ = 4

-
8
=

+

=

94 +
5

3
=

- 7 =
-
2
=9 - 3

-

=
5 + = 8

0 1

2 3

4 5

6 7

8 9

0

4



2 - = 2
+

=
8

+

=
6

- 1 =
-
3
=

9 - =
+
1
=

- = 0
-
4
=

+ = 4

-
8
=

+

=

94 +
5

3
=

- 7 =
-
2
=9 - 3

-

=
5 + = 8

0 1

2 3

4 5

6 7

8 9

0

6

4



2 - = 2
+

=
8

+

=
6

- 1 =
-
3
=

9 - =
+
1
=

- = 0
-
4
=

+ = 4

-
8
=

+

=

94 +
5

3
=

- 7 =
-
2
=9 - 3

-

=
5 + = 8

0 1

2 3

4 5

6 7

8 9

0

6 5

4



2 - = 2
+

=
8

+

=
6

- 1 =
-
3
=

9 - =
+
1
=

- = 0
-
4
=

+ = 4

-
8
=

+

=

94 +
5

3
=

- 7 =
-
2
=9 - 3

-

=
5 + = 8

0 1

2 3

4 5

6 7

8 9

0

6 5

2

4



2 - = 2
+

=
8

+

=
6

- 1 =
-
3
=

9 - =
+
1
=

- = 0
-
4
=

+ = 4

-
8
=

+

=

94 +
5

3
=

- 7 =
-
2
=9 - 3

-

=
5 + = 8

0 1

2 3

4 5

6 7

8 9

0

6 5

27

4



2 - = 2
+

=
8

+

=
6

- 1 =
-
3
=

9 - =
+
1
=

- = 0
-
4
=

+ = 4

-
8
=

+

=

94 +
5

3
=

- 7 =
-
2
=9 - 3

-

=
5 + = 8

0 1

2 3

4 5

6 7

8 9

0

6 5

27

8

4



2 - = 2
+

=
8

+

=
6

- 1 =
-
3
=

9 - =
+
1
=

- = 0
-
4
=

+ = 4

-
8
=

+

=

94 +
5

3
=

- 7 =
-
2
=9 - 3

-

=
5 + = 8

0 1

2 3

4 5

6 7

8 9

0

6 5

27

8 8

4



2 - = 2
+

=
8

+

=
6

- 1 =
-
3
=

9 - =
+
1
=

- = 0
-
4
=

+ = 4

-
8
=

+

=

94 +
5

3
=

- 7 =
-
2
=9 - 3

-

=
5 + = 8

0 1

2 3

4 5

6 7

8 9

0

6 5

27

8 8

4

4



2 - = 2
+

=
8

+

=
6

- 1 =
-
3
=

9 - =
+
1
=

- = 0
-
4
=

+ = 4

-
8
=

+

=

94 +
5

3
=

- 7 =
-
2
=9 - 3

-

=
5 + = 8

0 1

2 3

4 5

6 7

8 9

0

6 5

27

8 8

4

1

4



2 - = 2
+

=
8

+

=
6

- 1 =
-
3
=

9 - =
+
1
=

- = 0
-
4
=

+ = 4

-
8
=

+

=

94 +
5

3
=

- 7 =
-
2
=9 - 3

-

=
5 + = 8

0 1

2 3

4 5

6 7

8 9

0

6 5

27

8 8

4

1

9

4



2 - = 2
+

=
8

+

=
6

- 1 =
-
3
=

9 - =
+
1
=

- = 0
-
4
=

+ = 4

-
8
=

+

=

94 +
5

3
=

- 7 =
-
2
=9 - 3

-

=
5 + = 8

0 1

2 3

4 5

6 7

8 9

0

6 5

27

8 8

4

1

9

4

0



2 - = 2
+

=
8

+

=
6

- 1 =
-
3
=

9 - =
+
1
=

- = 0
-
4
=

+ = 4

-
8
=

+

=

94 +
5

3
=

- 7 =
-
2
=9 - 3

-

=
5 + = 8

0 1

2 3

4 5

6 7

8 9

0

6 5

27

8 8

4

1

9

4

0

4



2 - = 2
+

=
8

+

=
6

- 1 =
-
3
=

9 - =
+
1
=

- = 0
-
4
=

+ = 4

-
8
=

+

=

94 +
5

3
=

- 7 =
-
2
=9 - 3

-

=
5 + = 8

0 1

2 3

4 5

6 7

8 9

0

6 5

27

8 8

4

1

9

4

0

4

8



2 - = 2
+

=
8

+

=
6

- 1 =
-
3
=

9 - =
+
1
=

- = 0
-
4
=

+ = 4

-
8
=

+

=

94 +
5

3
=

- 7 =
-
2
=9 - 3

-

=
5 + = 8

0 1

2 3

4 5

6 7

8 9

0

6 5

27

8 8

4

1

9

4

0

4

8

5



2 - = 2
+

=
8

+

=
6

- 1 =
-
3
=

9 - =
+
1
=

- = 0
-
4
=

+ = 4

-
8
=

+

=

94 +
5

3
=

- 7 =
-
2
=9 - 3

-

=
5 + = 8

0 1

2 3

4 5

6 7

8 9

0

6 5

27

8 8

4

1

9

4

0

4

8

5

1



2 - = 2
+

=
8

+

=
6

- 1 =
-
3
=

9 - =
+
1
=

- = 0
-
4
=

+ = 4

-
8
=

+

=

94 +
5

3
=

- 7 =
-
2
=9 - 3

-

=
5 + = 8

0 1

2 3

4 5

6 7

8 9

0

6 5

27

8 8

4

1

9

4

0

4

8

5

1

5



2 - = 2
+

=
8

+

=
6

- 1 =
-
3
=

9 - =
+
1
=

- = 0
-
4
=

+ = 4

-
8
=

+

=

94 +
5

3
=

- 7 =
-
2
=9 - 3

-

=
5 + = 8

0 1

2 3

4 5

6 7

8 9

0

6 5

27

8 8

4

1

9

4

0

4

8

5

1

5
6



2 - = 2
+

=
8

+

=
6

- 1 =
-
3
=

9 - =
+
1
=

- = 0
-
4
=

+ = 4

-
8
=

+

=

94 +
5

3
=

- 7 =
-
2
=9 - 3

-

=
5 + = 8

0 1

2 3

4 5

6 7

8 9

0

6 5

27

8 8

4

1

9

4

0

4

8

5

1

5
6

4



2 - = 2
+

=
8

+

=
6

- 1 =
-
3
=

9 - =
+
1
=

- = 0
-
4
=

+ = 4

-
8
=

+

=

94 +
5

3
=

- 7 =
-
2
=9 - 3

-

=
5 + = 8

0 1

2 3

4 5

6 7

8 9

0

6 5

27

8 8

4

1

9

4

0

4

8

5

1

5
6

4

3



https://fs00.infourok.ru/images/doc/264/269447/hello_html_m55378ed.png
https://catherineasquithgallery.com/uploads/posts/2021-02/1613149277_70-p-krasivii-zheltii-fon-dlya-fotoshopa-81.jpg


